Answers to Cumulative Reviews

Chapters 1-4

1. QR. PR 2. coplanar 3. F 4 skew S. ABE. £BC
6. siraight 7. parallel 8. right 9. BXD 10. irapezoid
1L33 12, 2. 12 b. 2 13. 47 14. 1620 15. 66

16. a. If a & 15 equilateral, then the sides of the & are = b, If
the sides of a & are =. then the & 15 equilateral. ¢ ifa & s
not equiiateral, then the sides of the A are not = d. If the sides
of a & are not =. then the & 15 not equilateral 17. Yes

18. Yes 19. No 20. Yes 21. No 22, Yes 23. No

24. 1 Given 2. In a plane, 2 lines L 10 the same hLine are I
3 1f 2 ines are cut by a trans., then ai. int 4 are = 4 Vert
4 are = 5. Given 6 AAS Thm. 7. Corr paris of = A are

8 Def of segment bisecior 25. 3,2 26. 12 27,2

i

2810 29.°S 30. 12 31,323 32 67% 33. 8

3.1 ABUDE. BCIEF (Given) 2. £BAC = L EDF,

£ BCA= ¢ EFD (I7 2 |l lines are cut by a trans.. then corr A& are

) 3 AD + DC = AC, DC + CF = DF (Se2. Add. Posi)

4 AD= CF(AD = CF)(Gwen) S AC = CF + DC. AC = DF

(Subst Prop) 6 AABC = ADEF(ASA) 1. LB = ¢ £ (Corr
parts of = A are =.) 35. L. AQRT = o VST (Given)

3 (RQT = ¢ SVT (Corr panis of = A are =) 3 PVIQR (If

it

2 lines are cut by a trans. and alt. inl. & are =, then the hnes are
iy & PSUHQR (PS tieson PY) 5 S s the midpt. of PV
(Given) 6 PS = S_V(Def of midpt) 7 SV = Q—R (Corr parts
of = A are =) 8 PS= QR (Trans. Prop) 9 Quad PQRS is
a (7 (If one pair of opp. sides of a quad. are both = and Il, then
the quad. 1s 2 OJ)) 36. 1| AD = AE,. PX = QX (Civen)

2 4l = ¢2. £26= 5 (lsosceles & Thm) 3 23 = <21,
2= L4 (Vert 4 are =) 4 L3 = L4 (Trans Prop)

5 PD = £Q (Given) 6 APDB = AQEC(ASA) 7 BD = CE
(Corr. parts of = & are =) 37. | DC = FC. DE= FE
(Given) 2 EC = EC (Reflex Prop) 3 AECD = & ECF(SSS)
4. 2D = ¢ F(Corr pantsof = & dare =) § EJEFE(GIVCM
6 ADAC = o FBC (SAS) 38 1 L= 422 (3= L4
(Given) 2 XE = XD, BN = AN (Isosceles .A Thnm. Converse)

3 AN + NE = AE. BY + AD = BD (Seg Add. Post)

a AL = BN + \D. AE = BD (Subst Prop.) 5 AB = AB
(Reflex Prap) 6 OELEAB = ADBA(SAS) 7 L EBA = (D48
1Corr paric of = A are =) & CA = CB (sosceles & Thm
Converse) 39 0 LA =8 AC = BC (Given)

T32

] LACE= (BCF(Vert 4 are =) 3 OACF = ABGF(SAS)
4 EC = FC (Corr parisof = & are =.) 5 LCFE= £ CEF
(lsosceles & Thm) 6. ED = FD (Given) 7. 4CDE= o CDF
(SAS) 8 LCDE= (CDF (Corr parts of = A& are =)

9 CD i EF (Il 2 hines form = adjacent & . then the lines are 1)

Chapters 5-8

1. False 2. Faise 3. True 4. True S. False 6. False
7. True 8. _% 9.3V0 10 Via 11 93
1.2V 13,6 14,92 15. 301 16. 53 17. 43

18. Draw a seg 48 using A and B as centers and A8 as the
radius, swing two arcs; label their int C, draw CA. use Consir 3

10 bisect £ CAB, each of the (wo resulting & 15 a 30° £

the meas of its

I~
ra) —

19. 1. The meas of an inscribed

2. Subst Prop 3 Vert 4 are =
5 Corr sides of ~ & are in proporuon

Use Constr. | 0

intercepted arc
4 AA ~ Thm
6 Prop. of proporuons 20. 1.4 21
construct a seg. XY with length a. use Const. 5 1o construct line /

L 10 XY at X use Const | 1o construct a seg. XZ with length b
along /: draw ZY. 22. Use Const. 13 23. 30 24. 20
25. 130 26. 90 27. 4 28. 6 29. 9 30. 36
— e e BD EF
3.0 328 33 1 BENAF] 2 = o
FICG (Given) 2 ila i

(If 3 1l lines snt. 2 trans.. then they divide the trans

proporuonally.) 3 AF bisects £ BAD (Given) 4 %g = %
(If aray bis an £ of a &, then 1t divides the opp. side 1Nt
segments prop. (o the other 2 sides) 5 % = ﬁ—g (Subst. Prop

3.1 AB s tangent to OO a1 B (Given) 2. A8 L BO (If a‘..hnc
1s tangent 10 @ O. then the hine is L (0 the radius drawn 10 l.hc
pt. of wungencyy 3 m L ABO =90 (Del of 1 lines. Def of
m s BCD = 90 (An £ inscribed in a semucircle is d rt
S mZABO = mZ BCH (Subst. Prop.)

7T ABAO = &CBD

. Z) 4
L Delof r1 £)
6 L840 = 2 CBD (Given)

(AA ~ Thm)) 35. 1. AB angeni 1o OF w1 B, 8C s ngent
w OO0 ut 8 (Guveny 2 1In Q0. ml CBD = ‘urH_S/) i OF,

T

|
il ABD = S BRD (The meas of an £ tormed by u chord and




